F—Fy XS v /A VinHA - HEAE EEILAEF—B

Ek &REB|NEAZ| No. K% AR 3 H Rk
1 (1008 |4t &/ 0:19:37 [SWIM 0:00:48 / BIKE 0:14:09 / RUN 0:04:40
SWIM 2 |1007 |88 /E& 0:19:14 [SWIM 0:00:55 / BIKE 0:13:48 / RUN 0:04:31
3 |1005|EH = 0:20:52 [SWIM 0:01:01 / BIKE 0:14:45 / RUN 0:05:06
1 [1007 (8 R JEE 0:19:14 [SWIM 0:00:55 / BIKE 0:13:48 / RUN 0:04:31
NFIFESETF | BIKE 2 11008 |t =i 0:19:37 [SWIM 0:00:48 / BIKE 0:14:09 / RUN 0:04:40
3 | 1006 EH £ 0:21:06 [SWIM 0:01:10 / BIKE 0:14:40 / RUN 0:05:16
1 (1007|686 R EE 0:19:14 [SWIM 0:00:55 / BIKE 0:13:48 / RUN 0:04:31
RUN 2 | 1008 |uFT = 0:19:37 [SWIM 0:00:48 / BIKE 0:14:09 / RUN 0:04:40
3 |1005|EH = 0:20:52 [SWIM 0:01:01 / BIKE 0:14:45 / RUN 0:05:06
SWIM 1 |1501E:0 BEE | 0:27:39 [SWIM 0:01:00 / BIKE 0:21:16 / RUN 0:05:23
NFELIFEL T |BIKE 1 |1501E0 BEE | 0:27:39 [SWIM 0:01:00 / BIKE 0:21:16 / RUN 0:05:23
RUN 1 |1501E0 BEE | 0:27:39 [SWIM 0:01:00 / BIKE 0:21:16 / RUN 0:05:23
1 12006 |/h& EE 0:16:00 [SWIM 0:00:46 / BIKE 0:11:23 / RUN 0:03:51
SWIM 2 |2002|=5= B 0:16:16 |SWIM 0:00:47 / BIKE 0:11:34 / RUN 0:03:55
3 |2011 (& @At 0:19:35 [SWIM 0:00:47 / BIKE 0:14:00 / RUN 0:04:48
1 12006 |/h& W% 0:16:00 [SWIM 0:00:46 / BIKE 0:11:23 / RUN 0:03:51
NF2FEBF| BIKE 2 |2002|=5= B 0:16:16 |SWIM 0:00:47 / BIKE 0:11:34 / RUN 0:03:55
3 |2018|1&E == 0:17:23 |SWIM 0:00:57 / BIKE 0:12:09 / RUN 0:04:17
1 [2006 /)& jEE 0:16:00 [SWIM 0:00:46 / BIKE 0:11:23 / RUN 0:03:51
RUN 2 2002|572 B 0:16:16 [SWIM 0:00:47 / BIKE 0:11:34 / RUN 0:03:55
3 |2018[t&EE 2 0:17:23 [SWIM 0:00:57 / BIKE 0:12:09 / RUN 0:04:17
1 |2502| T/ BE 0:19:20 [SWIM 0:00:43 / BIKE 0:13:54 / RUN 0:04:43
SWIM 2 | 2507|# kE 0:22:05 [SWIM 0:00:50 / BIKE 0:16:24 / RUN 0:04:51
3 |2509( L7l B3 0:19:15 [SWIM 0:00:52 / BIKE 0:13:35 / RUN 0:04:48
1 |2501|fE A&V 0:19:25 [SWIM 0:00:58 / BIKE 0:13:33 / RUN 0:04:54
NF 2 FLZF | BIKE 2 |2509|L7E £ 0:19:15 [SWIM 0:00:52 / BIKE 0:13:35 / RUN 0:04:48
3 |2503|%H # 0:19:42 [SWIM 0:00:56 / BIKE 0:13:45 / RUN 0:05:01
1 |2502| T/ BE 0:19:20 [SWIM 0:00:43 / BIKE 0:13:54 / RUN 0:04:43
RUN 2 |2509|L7E £ 0:19:15 [SWIM 0:00:52 / BIKE 0:13:35 / RUN 0:04:48
3 | 2507 |# kE 0:22:05 [SWIM 0:00:50 / BIKE 0:16:24 / RUN 0:04:51
1 [3016|®H & 0:20:13 [SWIM 0:01:30 / BIKE 0:12:48 / RUN 0:05:55
SWIM 2 |3006| Kk =K 0:20:28 [SWIM 0:01:35 / BIKE 0:13:50 / RUN 0:05:03
3 | 3013 |HE FHl 0:20:00 [SWIM 0:01:37 / BIKE 0:12:44 / RUN 0:05:39
1 [3013(@EE FHHl 0:20:00 [SWIM 0:01:37 / BIKE 0:12:44 / RUN 0:05:39
NFIEFEFSF| BIKE 2 |3016|% BE 0:20:13 [SWIM 0:01:30 / BIKE 0:12:48 / RUN 0:05:55
3 | 3003|8RH &z 0:19:41 [SWIM 0:01:45 / BIKE 0:12:58 / RUN 0:04:58
1 |[3003|8RH F52E 0:19:41 [SWIM 0:01:45 / BIKE 0:12:58 / RUN 0:04:58
RUN 2 |3006| Kk =X 0:20:28 [SWIM 0:01:35 / BIKE 0:13:50 / RUN 0:05:03
3 |3014 (B BN 0:20:42 [SWIM 0:02:02 / BIKE 0:13:22 / RUN 0:05:18




F—NFy X v VinEH - HELE BB EIRF—E

#RFI% xfiEB| BR[| No. K4 TR 31 H &k

1 3505|277 Z@EE | 0:21:59 [SWIM 0:01:28 / BIKE 0:13:39 / RUN 0:06:52

SWIM 2 | 3507 |18 B 0:18:30 |SWIM 0:01:29 / BIKE 0:11:43 / RUN 0:05:18

3 |3509|:k# =FH 0:22:28 |SWIM 0:01:35 / BIKE 0:13:47 / RUN 0:07:06

1 |[3507 1% &k 0:18:30 |SWIM 0:01:29 / BIKE 0:11:43 / RUN 0:05:18

NFEI3FZF| BIKE 2 | 3512|E:H & 0:21:27 |SWIM 0:01:51 / BIKE 0:12:42 / RUN 0:06:54
3 | 3510|911 AR 0:21:14 |SWIM 0:01:36 / BIKE 0:12:46 / RUN 0:06:52

1 | 3508 |HH i 0:20:17 |SWIM 0:01:52 / BIKE 0:13:22 / RUN 0:05:03

RUN 2 | 3507 |tEEF B 0:18:30 |SWIM 0:01:29 / BIKE 0:11:43 / RUN 0:05:18

3 | 3501 [ERAT BXE 0:27:11 |SWIM 0:02:16 / BIKE 0:18:43 / RUN 0:06:12

1 4017 |5kFH BXR 0:18:02 |SWIM 0:01:15 / BIKE 0:11:53 / RUN 0:04:54

SWIM 2 |4016|8ER 12E 0:17:48 |SWIM 0:01:21 / BIKE 0:11:28 / RUN 0:04:59

3 14027 |F# & 0:20:55 |SWIM 0:01:29 / BIKE 0:13:30 / RUN 0:05:56

1 14026 L0O &3 0:18:05 |SWIM 0:01:41 / BIKE 0:11:22 / RUN 0:05:02

NFA4FSF| BIKE 2 |4016|8ER 12E 0:17:48 |SWIM 0:01:21 / BIKE 0:11:28 / RUN 0:04:59
3 4017 [:kH 1EXK 0:18:02 |SWIM 0:01:15 / BIKE 0:11:53 / RUN 0:04:54

1 4017 |5kFH BXR 0:18:02 |SWIM 0:01:15 / BIKE 0:11:53 / RUN 0:04:54

RUN 2 |4016|8ER 12X 0:17:48 |SWIM 0:01:21 / BIKE 0:11:28 / RUN 0:04:59

3 4025|228 W& 0:19:15 |SWIM 0:01:40 / BIKE 0:12:33 / RUN 0:05:02

1 4504 [EHHE HH 0:19:44 |SWIM 0:01:22 / BIKE 0:12:23 / RUN 0:05:59

SWIM 2 4507 |/R #E3 0:19:55 |SWIM 0:01:23 / BIKE 0:13:00 / RUN 0:05:32

3 |4505|1+%& BX 0:22:54 |SWIM 0:01:29 / BIKE 0:14:54 / RUN 0:06:31

1 |4504|HHE HF 0:19:44 |SWIM 0:01:22 / BIKE 0:12:23 / RUN 0:05:59

NFA4FF| BIKE 2 4507 |/ #53 0:19:55 |SWIM 0:01:23 / BIKE 0:13:00 / RUN 0:05:32
3 |4509|F)II E= 0:20:45 |SWIM 0:01:32 / BIKE 0:13:37 / RUN 0:05:36

1 |4507|R #&3% 0:19:55 [SWIM 0:01:23 / BIKE 0:13:00 / RUN 0:05:32

RUN 2 |4509|F)I E= 0:20:45 |SWIM 0:01:32 / BIKE 0:13:37 / RUN 0:05:36

3 |4510(FE & 0:21:35 |SWIM 0:01:34 / BIKE 0:14:21 / RUN 0:05:40

1 [5012[#8HE .0 0:31:54 |SWIM 0:02:16 / BIKE 0:21:30 / RUN 0:08:08

SWIM 2 |5005(EfR R4t 0:33:53 |SWIM 0:02:21 / BIKE 0:21:20 / RUN 0:10:12

3 | 5004 (8 &=t 0:31:59 |SWIM 0:02:35 / BIKE 0:21:02 / RUN 0:08:22

1 [5004 (5% &= 0:31:59 |SWIM 0:02:35 / BIKE 0:21:02 / RUN 0:08:22

NFELFFF| BIKE 2 |5005|Efr 1 0:33:53 |SWIM 0:02:21 / BIKE 0:21:20 / RUN 0:10:12
3 |5012|#8H &0 0:31:54 |SWIM 0:02:16 / BIKE 0:21:30 / RUN 0:08:08

1 [5012[#.6H =0 0:31:54 |SWIM 0:02:16 / BIKE 0:21:30 / RUN 0:08:08

RUN 2 | 5004 |F%F E=Hit 0:31:59 |SWIM 0:02:35 / BIKE 0:21:02 / RUN 0:08:22

3 |5007|8F K3 0:39:13 |SWIM 0:03:24 / BIKE 0:26:48 / RUN 0:09:01




F—NFy X v VinEH - HELE BB EIRF—E

#RFI% xfiEB| BR[| No. K4 TR 31 H &k
1 |5509 1L & 0:35:35 |SWIM 0:02:22 / BIKE 0:22:10 / RUN 0:11:03
SWIM 2 | 5502|%igiE 1AL 0:34:12 |SWIM 0:02:30 / BIKE 0:21:59 / RUN 0:09:43
3 | 5504 |E&FT & 0:40:49 |SWIM 0:02:57 / BIKE 0:24:04 / RUN 0:13:48
1 [5502 [FEiE &AL 0:34:12 |SWIM 0:02:30 / BIKE 0:21:59 / RUN 0:09:43
NFLFRF| BIKE 2 [5509 (¥ & 0:35:35 |SWIM 0:02:22 / BIKE 0:22:10 / RUN 0:11:03
3 | 5508|#E& LA | 0:37:57 |SWIM 0:03:02 / BIKE 0:24:01 / RUN 0:10:54
1 [5502 [fiHiE HEAE 0:34:12 |SWIM 0:02:30 / BIKE 0:21:59 / RUN 0:09:43
RUN 2 |5508(#@E& LA | 0:37:57 |SWIM 0:03:02 / BIKE 0:24:01 / RUN 0:10:54
3 [5509(F & 0:35:35 |SWIM 0:02:22 / BIKE 0:22:10 / RUN 0:11:03
1 [6022|F)I K& 0:32:02 |SWIM 0:02:24 / BIKE 0:20:18 / RUN 0:09:20
SWIM 2 |6006|/h\=E 12 0:35:00 |SWIM 0:02:26 / BIKE 0:21:46 / RUN 0:10:48
3 |6019|= & FokE 0:39:31 |SWIM 0:02:27 / BIKE 0:24:54 / RUN 0:12:10
1 [6009|£%F ik 0:30:34 |SWIM 0:03:04 / BIKE 0:18:49 / RUN 0:08:41
NF6FFSF| BIKE 2 |6024 [E2FREE 222 | 0:31:34 |SWIM 0:02:44 / BIKE 0:19:22 / RUN 0:09:28
3 |6018(=HR B 0:31:41 |SWIM 0:02:43 / BIKE 0:19:35 / RUN 0:09:23
1 6013 [5xH EEXR 0:30:57 |SWIM 0:02:40 / BIKE 0:19:40 / RUN 0:08:37
RUN 2 | 6009 |18 ik 0:30:34 |SWIM 0:03:04 / BIKE 0:18:49 / RUN 0:08:41
3 |6021[1LH &iE 0:35:20 |SWIM 0:03:01 / BIKE 0:23:19 / RUN 0:09:00
1 [6512|FAkE B 0:31:50 |SWIM 0:02:16 / BIKE 0:20:42 / RUN 0:08:52
SWIM 2 | 6508 |F% FEHE 0:34:15 |SWIM 0:02:18 / BIKE 0:21:34 / RUN 0:10:23
3 | 6501 (A= #Abk | 0:34:23 |SWIM 0:02:33 / BIKE 0:22:12 / RUN 0:09:38
1 | 6505|758 #5165 0:31:59 |SWIM 0:02:34 / BIKE 0:20:02 / RUN 0:09:23
NF6FF| BIKE 2 | 6512|FlE HAD 0:31:50 |SWIM 0:02:16 / BIKE 0:20:42 / RUN 0:08:52
3 |6502| K& &K 0:36:50 |SWIM 0:02:45 / BIKE 0:21:25 / RUN 0:12:40
1 |6514|2AR HE 0:34:10 |SWIM 0:02:48 / BIKE 0:22:31 / RUN 0:08:51
RUN 2 | 6512|FalE HAD 0:31:50 |SWIM 0:02:16 / BIKE 0:20:42 / RUN 0:08:52
3 | 6505 [ZEEE 565 0:31:59 |SWIM 0:02:34 / BIKE 0:20:02 / RUN 0:09:23
1 | 7009 |F 1L & 0:42:27 |SWIM 0:02:29 / BIKE 0:26:37 / RUN 0:13:21
SWIM 2 |7010|:E & 0:43:26 |SWIM 0:03:13 / BIKE 0:27:36 / RUN 0:12:37
3 |7001|%8 X 0:51:08 |SWIM 0:03:13 / BIKE 0:30:42 / RUN 0:17:13
1 [7009 il & 0:42:27 |SWIM 0:02:29 / BIKE 0:26:37 / RUN 0:13:21
R 1F5F | BIKE 2 |7007|FR =& 0:43:35 |SWIM 0:03:15 / BIKE 0:27:27 / RUN 0:12:53
3 | 7004 [/\HK $RiE 0:44:23 |SWIM 0:03:17 / BIKE 0:27:28 / RUN 0:13:38
1 [ 7005 [#i Kb 1:10:02 [SWIM 0:03:17 / BIKE 0:54:33 / RUN 0:12:12
RUN 2 | 7010|E 0:43:26 |SWIM 0:03:13 / BIKE 0:27:36 / RUN 0:12:37
3 |7007|FR =% 0:43:35 |SWIM 0:03:15 / BIKE 0:27:27 / RUN 0:12:53
SWIM 1 | 7501/NEHE B | 0:43:14 SWIM 0:03:03 / BIKE 0:26:46 / RUN 0:13:25
1 F2F [BIKE 1 | 7501 |/NEHE B | 0:43:14 |SWIM 0:03:03 / BIKE 0:26:46 / RUN 0:13:25
RUN 1 |7501|/NEHE B | 0:43:14 |[SWIM 0:03:03 / BIKE 0:26:46 / RUN 0:13:25




F—Fy XS v /A VinHA - HEAE EEILAEF—B

#RFI% xfiEB| BR[| No. K4 B R ER 31 H &k

1 [8007|EBR =& 0:43:36 |SWIM 0:02:43 / BIKE 0:26:47 / RUN 0:14:06

SWIM 2 | 8003 |A¥k B AEL | 0:42:58 |SWIM 0:02:49 / BIKE 0:26:48 / RUN 0:13:21

3 | 8001 |xE+H E=F | 0:43:43 |SWIM 0:02:51 / BIKE 0:27:00 / RUN 0:13:52

1 |[8006 |£%F &k 0:42:18 |SWIM 0:03:00 / BIKE 0:25:27 / RUN 0:13:51

hE2F5F | BIKE 2 |8007|BR &E 0:43:36 |SWIM 0:02:43 / BIKE 0:26:47 / RUN 0:14:06
3 | 8003 |K¥k B AER | 0:42:58 |SWIM 0:02:49 / BIKE 0:26:48 / RUN 0:13:21

1 8005 [/ Bx=t 0:43:04 |SWIM 0:03:32 / BIKE 0:27:13 / RUN 0:12:19

RUN 2 | 8003 |K¥k B AEL | 0:42:58 |SWIM 0:02:49 / BIKE 0:26:48 / RUN 0:13:21

3 | 8006 |1k EF ZRk 0:42:18 |SWIM 0:03:00 / BIKE 0:25:27 / RUN 0:13:51

1 |8504|f28k B 0:45:09 |SWIM 0:02:47 / BIKE 0:28:29 / RUN 0:13:53

SWIM 2 | 8501 |8 &&FE | 0:44:00 |SWIM 0:02:48 / BIKE 0:27:31 / RUN 0:13:41

3 |8506|&H BH 0:45:14 |SWIM 0:03:02 / BIKE 0:28:30 / RUN 0:13:42

1 |8501|EfH EAFE | 0:44:00 [SWIM 0:02:48 / BIKE 0:27:31 / RUN 0:13:41

2 F2F | BIKE 2 | 8504|128 AfE 0:45:09 |SWIM 0:02:47 / BIKE 0:28:29 / RUN 0:13:53
3 |8506|&H BH 0:45:14 |SWIM 0:03:02 / BIKE 0:28:30 / RUN 0:13:42

1 |8501|EfH EAFE | 0:44:00 [SWIM 0:02:48 / BIKE 0:27:31 / RUN 0:13:41

RUN 2 | 8506 |tH B 0:45:14 |SWIM 0:03:02 / BIKE 0:28:30 / RUN 0:13:42

3 | 8504|128 AfE 0:45:09 |SWIM 0:02:47 / BIKE 0:28:29 / RUN 0:13:53

1 [9009|FlE K& 0:41:31 |SWIM 0:02:58 / BIKE 0:26:05 / RUN 0:12:28

SWIM 2 |9005|&mH BEE 0:42:48 |SWIM 0:02:59 / BIKE 0:26:45 / RUN 0:13:04

3 |9012|#0E EA 0:48:40 |SWIM 0:03:01 / BIKE 0:29:53 / RUN 0:15:46

1 [9011[#iH EE 0:39:49 |SWIM 0:03:02 / BIKE 0:25:55 / RUN 0:10:52

RE3FEF| BIKE 2 |9009|AlE K& 0:41:31 |SWIM 0:02:58 / BIKE 0:26:05 / RUN 0:12:28
3 |9005(EH EE 0:42:48 |SWIM 0:02:59 / BIKE 0:26:45 / RUN 0:13:04

1 [9011[#iH EE 0:39:49 [SWIM 0:03:02 / BIKE 0:25:55 / RUN 0:10:52

RUN 2 19008 |# )17 24 | 0:45:43 |SWIM 0:03:59 / BIKE 0:30:13 / RUN 0:11:31

3 9001 (M Exzsr | 0:42:44 |SWIM 0:03:06 / BIKE 0:27:50 / RUN 0:11:48

1 [9505(#& 2I1FA | 0:44:14 |SWIM 0:02:43 / BIKE 0:27:03 / RUN 0:14:28

SWIM 2 | 9502 |#R& FE 0:48:14 |SWIM 0:02:52 / BIKE 0:30:28 / RUN 0:14:54

3 |9504|#78 A A 0:47:38 |SWIM 0:03:03 / BIKE 0:29:33 / RUN 0:15:02

1 |9505|##2& DI1FA4 | 0:44:14 [SWIM 0:02:43 / BIKE 0:27:03 / RUN 0:14:28

R 3w F | BIKE 2 |9504 |78 A A 0:47:38 |SWIM 0:03:03 / BIKE 0:29:33 / RUN 0:15:02
3 |9503(tk3E HEA4 2= | 0:52:16 |SWIM 0:03:13 / BIKE 0:29:59 / RUN 0:19:04

1 |9505|##2& DIFA4 | 0:44:14 [SWIM 0:02:43 / BIKE 0:27:03 / RUN 0:14:28

RUN 2 | 9502 |ta M= 0:48:14 |SWIM 0:02:52 / BIKE 0:30:28 / RUN 0:14:54

3 |9504 478 A A 0:47:38 |SWIM 0:03:03 / BIKE 0:29:33 / RUN 0:15:02




